= Q
@/ ? E vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
I 1 3 3 1 3 1 1
_— e X - — = = —_F - X - — - =
2 2 4 4 S 4 3 5

1 1 2
2X —+8— == ——lx==1=

2r3T8Tg "3
—+42 x —+-6= l+l+lx%:
3 2 2 2 3

3 1 3 3

4 -9+ = 2X —+4— - =
2X3TO3 2X3TATy
I 1 3 1 3 1 1 2
—_F — X —+ — = — — — — — X = =
5 3 2 2 4 2 2 5
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»— Q
@ ? E vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
1 1 3 3 5 1 3 1 1 1
S =() st iTr=g
2 2 4 4 8 5 4 3 5 4
1 17 2 2 1
2X =+8— == — =1— ——1x==1=(=
2x3¥8 75757153 ) 3)
3 12 12 2 2 2 3 3 3
3 1 10 1 3 3 81 1
4 -9+ = —=3- 2X —=+4— —= — =4—
3X3TINIT 373 323 420 20
1 1 3 1 6 1 3 1 1 2 1
_—|—_X_+_:_:1_ — — e — e X m =
5 3 2 2 5 5 4 2 2 5 20
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